Model Paper for Girls Cadet College Test: Stage-1 Objective MCQs Part (Each of Question is of 1 Marks)
(Time Allowed Stage One: 1 Hour)

‘ 1 ‘ Salivary glands are presentin: '.,_;;.-*.Lm_aﬁ#:(ﬁ;fw
(a) oral cavity A (b) esophagus w1
§ . =1 7
(c) stomach «~*+ (d) small intestine =~="'~"%
| 2 | The largest artery is: | el ASre e
(a) pulmonary artery UaTdis (b) blood capillary St
(c) aorta ksl (d) pulmonary vein 47+
‘ 3 ‘ What is the name of whorl of sepals? | e bl RS U o
(a) calyx :.FJ’J (b) corolla v~
f. 4 ..l‘: 4
(c) androecium = (d) gynoecium [ﬂ-"'t
4 | The process in which frog spends whole winter season in :q.ttl:!:*"‘s’;;if-fyrd;f;’;.guﬂu”b’u’kv
sleeping is called:
oA id
(a) hibernation = " (b) respiration = *
(c) breeding =4+ (d) sleeping =¥
‘ 5 ‘ Which of the following is a reservoir of salt water? ‘ :;_,;:,Fl.;ji;}i;a&
LTy AT ,
(a) icebergs and glaciers ==“"<=**¥< (p) rivers *"
ry
(c) lakes &=~ (d) seas
‘ 6 ‘ The lightest particle of atom is: L ELEA
_;'-n/; . _1;, -
(a) nucleus « "= (b) proton - %
(c) electron &' (d) neutron &
‘ 7 ‘ Which of the following is a chemical change? ‘ :.f_-_b{,-;-ﬁl:{.'_,gf
Ltk |Lf|_f|. TP L N Y

(a) Boiling of water (b) Production of energy from food *

. . . L ':"'L G . vy '.|||r
(c) Dissolution of salt in water ° SO (d) Freezing of water L
8 | How many important modes are for transmission of heat? AL 28 B
(a)two * (b) three L
&\
(c) four “¥ (d) five *+
9 | If white light falls on an object of green colour, which ;,._A_,:;,';ﬁ‘;_}-l.,,;:_;:{f?i_i:_g¢?,¢;e,,'i
colour of light is reflected by it?
- (-
(a)red =0~ (b) green #==4%
rE L Ol
(c) yellow "= (d) blue ’(“("%'
‘ 10 ‘ What is unit of frequency? ‘ e e
(a) Meter ~ (b) Meter per second s

-

(c) Hertz i (d) Second =3
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11 | Symbol of Subset is denoted by?
— Dl LS b cw oS cdle (S duw ow
(a) & (b)# ©wv d €
122 . b 9
7 isa number s e Sol7
PN Wl P
(a). Natural el (b). Integer it (c). Rational Ubl' (d). Irrational UEL/:;
13 | when we convert 0.25 in fraction, we get o _
e b Ml dep & S it Pe 0255
1 1
(a) = b)) =
1 1
« - @ J6o
14 | Solve 2xX2x2x2
2x2x2x2 .S >
(@ 24 (b) 52 () 2° (@ 2°
15 f .
1000000 is equal to o Slass J1000000
(a) 10 (b) 1000 (c) 100 (d) 10000
16 =4 T e =
(a) 4:7:9 (b) 4:9:7 (c) 7:4:9 (d) 4:9:21
17 | The tax which a buyer pays to the seller is

called

-

U S el S S s e A e ST

4

oy 3
(a). Property Tax 4l (b). Ushr/; (c)

18 | (x + 8)* =

h (W
Zakat ,C (d). GST b

(a) x° + 64 + Bx

() x> + 16x+ 8

19 | solution of 2x+5=01is __

(b) x>+ 16x + 64
(@ FZ+32x+ 16

5

s 15 6 ¢ |
= =R

5 _
(a) E (b) ? {€) 5

20

2
(d) 5

The symbol of congruence is__

(a) (b) =

©

1
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31 | verb that needs objects to give complete meaning of sentences is:

A- Intransitive Verb B-Transitive Verb  C-Linking Verb D-Passive Verb

32 | Doyou chocolate milk?

A- Like B- Likes C- Be Like D- Liking
33 | borrow your pen?

A- Might B- May C-Am D-Is

34 | Synonyms of prevent is

A- Allow B- Accept C- Stop D- Carry
35 is an imaginative creation or a pretense that does not represent
reality but has been created.
A- Reality B- Fact C- Fiction D- None of These
36 | Cheese has a lot of calories. , carrots have very few calories.

A- As a Result B- Therefore C- In conclusion D- On the Other hand

37 | Most students wake up early school days.
A- At B-In C-To D-On
38

The word 'diphthong' is derived from a Greek word meaning what?

A- Vowel enhancement B- Syllable idea C- Having two sounds D- Speaking melodically

39 | Little drops of water,
Little of sand.
A- pieces B- grains C- piles D- then
40

Natural Resources and Minerals make a country rich and its people

A- wander B- prosperous C- cautious D- knowledgeable



